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20 Questions - 60 Minyges
Number of Pages 2
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Read the passage and answer the questions based 0n wWhat is stated or implicd in the passage. Circle the
correct answers in boxes 1-8 on the separate answer sheey. 8 Marks

Choleta, a highly infectious disease, has resulted in millions of deaths time after time over centuries. It is caused
by the bacterium Vibrio comma. The organism enters the body through the digestive tract when drinking
infected water or eating infected food. The hacteria multiply in the digestive tract and cause infection. When
they dic, they release o strong poisonous substance thit leads 1o severe diarrhea and vomiting. This results in
extreme dehydration, muscle cramps, Kidney failure. collapse, and sometimes death, If the disease is treated
promptly, death is less likely.

many '2'?““11'!*25. a4 common source of cholert is raw or undercooked seafood taken from contammated
waters. The disease is especially prevalent after a watra! disaster or other destruction that resuhe in adack of

fresh water. Sewer systéms Tail, and waste travels o rivers or streams, Because people freguenthy develog
communities along waterways. the disease can be spread: easily from one commumnity to the next communin
downstream, resuiting in o senous epidemi

Questions:

1. Which of the following would be an uppropriate title for this passage”

A. Dysentery and its Effects

B. Water Purification Svstems and their Importance

C. Results of War and Natural Disasters

D. The Causes and EfTects of Cholera

2. According to the passage, cholera

A. 15 easily transmitted from one person to another

B. is not a serious infection,

C. is no more dangerous than the common cold

D. cannot be transmitted 1o others by physical contuct.

3. The word "epidemic’ at the end of the passage is closest in meaning to

A. problem. B, vaccine C. experiment D. widespread illness
4. What can you conclude from the passage? ,
A, Careful cooking and personal hygiene practices can reduce the possibility of infection, :
B. Water mixed with other substances will not transmit the disease.

C. The respiratory system |s the most common area of entrance,

). Kidney disease is the most common cause of the illness,

5. The word infectious in the first sentence is closest in meaning to

A. communicable, B. severe. C. isolated, D. common.

6. According to the passage. cholera is caused by '

A. a virus. B. a bacterium. C. kidney failyre. 1. dehydration.
|
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.
All of the followin ssible causes of infection cxeep

iﬂ:&ﬁgﬁnmﬂmmm water, B. cating undercooked seafood

C. elﬂnsmkﬂdmgamhlns. : by ) D. eating raw fish,

8 Aﬂﬁ!‘ﬂlﬂg to the m'gt. B common :mpﬁﬂ:_’.‘.!fr"lt infection is

Al kidnﬁy.-ﬁllim' B. diarthea o C. drowsiness D. fever

PART 2: GRAMMAR: Choose the word or word group tha et completes the sentence. Circle the

correct answers in boxes 9-16 on the separite answer sheey, B Marks
9. Cancerisone of .............. discases in history. .
A. the most serious B. most serious  C. the more serious D. the seriousest
10. Most heart attacks ...........co...... by blood clots,
A- 10 M L'al!s#d H are Cill.lsinﬂ ' O were caused D, are caused
1L The teacher asked the student ............him the bouKs.
. A, that he shows B. that he showed . showed D). 10 show
12. Scientists still ............ a cure for AIDS.
A don"t find B, hasn't tound C. haven't found D, aren’t finding
L3101 knew English better, | teenseneans SOME English novels,
A would read B. will read C. would have read . will not read
14. He called the police ........ he realized that a thief had broken into his neighbor's house,
Aif B. while C. when D. until
B doing all these months?
A have been you B. did you do C. have you been D. you been
. 16. Ali burt his head while he
5 A exercises, B. exercised. C. was exercising. D). is exercising.
EMM Choose the sentence that does NO'T contain mistakes in grammar or usaoe. Cirele
the correet answers in boxes 17-20 on the separate answer sheet, 4 Murks

17,
A. He ecats fresh vegetble and not smoke
B. He cat vegetable fresh and do not smoke.
C. He eats fiesh egetable and does not smoke
D. He eats fresh vegetable and did not smoke
18.
A. He had a heart antack and die immediately.
B. He has a heart anack and died immediately.
C. He had a heart attack and was died immediately,
D. He had a heart attack and died immediatels
19,
A. The study group meeting in the libra y on Wednesday?
B. The study group that will be meeting in the library gn Wednesday?
C. Isthe study group meeting in the library on Wednesday !
D. Will the study group meeting in the library on Wednesday?

20.
A, Several people were seriously injured in the accident,
B. Several people who were seriously injured in the acciden:
C. Several peaple seriously injured in the acciden
D. Several People were seriously injure in the accident,
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AYSVAIY VA aalall el bl dtey sl Ay gadivi i) Al &y e ARl LS
English Admission Test
20 Questions - 60 Minutes
Number of Pages 2

L]

"B“ C‘J}A:'

Read the passage and answer the questions based on what is stated or implied in the passage. Circle the
correct answers in boxes 1-8 on the separate answer sheet, 8 Marks

Cholera, a highly infectious disense, has resulted in millions of deaths time after time over centuries. It is caused
by the bacterium Vibrio comma. The organism enters the body through the digestive tract when drinking
infected water or eating infected food. The bacteria multiply in the digestive tract and cause jnI.er_lmn. When
they die, they release a strong poisonous substance that leads to severe diarrhea and vomiting. This results in
extreme dehydration, muscle cramps, kidney failure, collapse, and sometimes death. If the disease is treated
promptly, death is less likely.

In many countries, a common source of cholera i$ raw or undercooked seafood taken from contaminated
waters. The disease is especially prevalent after a matural disaster or other destruction that results in a lack of
fresh water. Sewer systems fail. and waste travels jnto rivers or streams. Because people frequently develop
communities along waterways, the disease can be spread casily from one community to the next community
downstream, resulting in a Sefious epidemic \

Questions:

L. The word infectious in the first sentence is closest in meaning to

A. communicable. B. severe, C. isolated. D. common
2. According 1o the passage, cholera is caused by

A, avirus, B. a bacterium C. kidney failure. D. dehydration

3. All of the following are possible causes of infection except
A. eating food cooked with contaminated water.

B. eating undercooked seafood.

C. eating cooked vegetables.

D. eating raw fish.

4. According to the passage, a common symptom of the infection is

A. kidney failure B. diarrhea a C. drowsiness D. fever

5. Which of the following would be an appropriate title for this passage?
A. Dysentery and its Effects

B. Water Purification Systems and their Importance

C. Results of War and Natural Disasters

D. The Causes and Effects of Cholera

6. According to the passage, cholera

A. is easily transmitted from one person to another.

B. is not a serious infection.

C. is no more dangerous than the common cold

D. cannot be transmitted 1o others by physical contact.

7. The word ‘epidemic’ at the end of the passuge is closest in meaning to
A. problem, B. vacecine C. experiment D, widespread illness



g

|
1’ 'g’h“ can you conclude from the passage”?
B wa;fml r:““:'l‘i“E and persanal hygiene practices G reduce the pogsibility of infection.
C Tl't:r mixed with I}'Iherl substances will not transmil the disese
N Kid m‘%‘f‘““f}' system is the most common ares 08 entrap ¢
ney disease is the most common cause of the illness

: G i Choose the word or word group thay | e, Cirele the
pest eompletes the sentence. Cirele the
correct answers in boxes 9-16 on the sepurate ansWer sheey, B Marks
Y. Scientists still seisnnnnnnes B CUFE Tor AIDS.
A.don’t find B hasn't found C. haven't found 2. aren’t finding
T0 101 Knew English better, | cienneen Some English novels,
ﬁl “'ﬂlﬂd mﬂd l; thli" “:“LI e 1‘5“"|d h“'rlu rl."'ild I.'l L"l.'j” not read
“'E“.?“““‘ the police ........ he realized that @ thicf had broken into his neighbor's house,
i LV B. while C. when . untii
e . doing all these months?
A. have ht:cn you 3. did vou do C. have you been . you been
13. Ali hurt his head while he ...
A. exercises. B. exercised. C. was exercising. ). 15 exercisini,
14. Cancer is one of .............. discases in history.,
A. the most serious B, most serious  C. the more serious [, the seriousest
15, Most heart attucks ........... verennns by blood clots,
A. to be caused B. are causing C. were caused D). are caused
16. The teacher asked the student ............him the books.
AL that he shows B. that he showed . showed 12 1o show
PART 3: WRITING: Choose the sentence that doesNOT contain mistakes in grammar or usage. Cirele
| the correct answers in boxes 17-20 on the separate answer sheet, 4 Marks
| 17.

A. He had o heart attack and die immediatels
B. He has a heart attack and died immedintely
C. He had a heart attack and was died immediately
D. He had a heart attack and died immediately.
I8,
' A. He eats fresh vegetable and not smoke
B. He eat vegetable fresh and do not smoke.
C. He eats fresh vegetuble and does not smoke.
D. He eats fresh vegetable and did not smoke
19.
A. The study group meeting in the library on Wediesday?
| B. The study group that will be meeting in the library on Wednesduy?
| C. Is the study group meeting in the library on Wednesday?
D. Will the study group meeting in the library on Wednesday?
20,
A. Several people were seriously injured in the accident,
B. Several peaple who were seriously injured in the aceident.
C. Several people seriously injured in the accident.
D. Several people were seriously injure in the accident,

Goml Luck!
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